BERBRERFBRE=FIT

RAEGFHLARFF11EDHER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | ERRERAEE (1 Sv/h)
_— L
No. | Tk X% INEZT BE | soom | (h-aBOFiE) e
m S0 %10@
RERR FERER
50cm 0.07 0.08
YAV INRKR—Y L5 HE G
m 0.07 0.08
50cm 0.07 0.08
) LDOFHEES
m 0.07 0.08
50cm 0.08 0.08
10818 KIZLI5EES
im 0.08 0.09
50cm 0.06 0.07
HWENREEREIES
im 0.06 0.07
50cm 0.07 0.08
BRIG RAIETEG
im 0.08 0.08
50cm 0.07 0.07
1082A BRi5EY BT E 5
im 0.07 0.07
50cm 0.06 0.07
1 wem LEAR |HOFREEHLE 10A1A [ b iiE I RIEE = 15
im 0.06 0.06
50cm 0.08 0.08
10A2H [ bR iE T AR E 15
im 0.08 0.08
50cm 0.08 0.08
AEEEIS
im 0.08 0.08
50cm 0.08 0.08
At EEES
im 0.08 0.08
50cm 0.07 0.07
10818 AR—YA R NEIGEHES
im 0.07 0.07
50cm 0.07 0.08
S=Z BMILIGEEG
im 0.07 0.07
50cm 0.06 0.07
BAFRIGEHS
im 0.06 0.07
50cm 0.11 0.12
TEIRS
im 0.11 0.11
2 | fEBW | EMAE |FEAE 10R18 e
50cm 0.09 0.10
Tk
im 0.09 0.10
50cm 0.09 0.08
3 =EM ERAR |BNESAE 9A308
im 0.09 0.08
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EERREMSGHEE-4UJHRE EHLAREF11E)FER
(SMTE9A248~108 108 EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE N EAM (RF NI

AIERES | EMREEAEE (1 Sv/h)
= NS
HETA &5 AEEE T BE | soom | (PR-aBOT L) e
m e %10M
RERR FERER
50cm 0.18 0.13
BT EFRAE | NERESLE 10A7H
im 0.17 0.13
50cm 0.14 0.12
DAVYREG-TEEEY DIRS
im 0.13 0.12
50cm 0.12 0.12
wem EBAR |HEAR 9A30H HOHRELRIG - bU-CHDLE
im 0.12 0.12
50cm 0.12 0.13
WIWLD RS
im 0.12 0.13
50cm 0.09 0.09
wem EFBAR |BFHPRNE 9A25H
im 0.08 0.09
50cm 0.11 0.10
wem ERAR |SEEBLE 10A3H
im 0.10 0.10
50cm 0.11 0.10
BT ERARE |FRAE 10A2R
im 0.11 0.09
50cm 0.11 0.11
wem EFEAR (MBAR 1084AH
im 0.11 0.11
50cm 0.12 0.13
'ET ERAE |(BEIEFE20E 10A8H
im 0.12 0.13
50cm 0.10 0.09
'ET AEBAE |FEREE1LE 9A8308
im 0.09 0.09
50cm 0.11 0.09
wem EBEAR |(RINIEFE12E 10R48
im 0.11 0.09
50cm 0.08 0.08
Z BHILE
im 0.09 0.07
(=it EHAR  |HELE 10888 S
50cm 0.10 0.09
HEELRS
im 0.09 0.10
50cm 0.16 0.16
wem AR |HERTHXAEBE | 10838
im 0.15 0.15
50cm 0.12 0.14
'ET ERARE | BERILAER 98308
im 0.12 0.14
50cm 0.13 0.14
wem EBEAR | SKLEEPRAE 9A/27H
1m 0.13 0.14
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BERBRERFBRE=FIT

(SMTE9A248~108108EHE)

AEEHARFEF 11 EDHER

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  THETH K4 INAETL BE | soom | (hs-aBOFiE) EE
fm 5@ %10
FERFR REMER
50cm 0.11 0.12
17 =T ERAR |HEhbhAHOYLE 10878
1m 0.11 0.12
50cm 0.08 0.08
18 E=1=hi wENR |+RNE2E 9A30H
1m 0.07 0.08
50cm 0.28 0.28
SROZF(TALFVY)
1m 0.27 0.28
50cm 0.11 0.11 B
19 | EEW | KEAR |[EXULHE o729 —— T T et 2 75 B
50cm 0.11 0.11
&K
1m 0.11 0.11
50cm 0.10 0.1
20 E=1=hi WEAR |FEEHLE 9H824H
1m 0.10 0.10
50cm 0.11 0.10
21 =T WEAR |EXFRLE 1082AR
1m 0.11 0.10
50cm 0.10 0.10
22 E=1=hi HWEAE |TEELE 10A4H
1m 0.10 0.10
50cm 0.09 0.09
23 E=1=hi HWXAR |BHAEAR 10878
1m 0.09 0.09
50cm 0.16 0.18
24 =T HMEAE |ER&ZH 10A3H
1m 0.16 0.17
50cm 0.14 0.15
LULFLE CEDLE
1m 0.13 0.14
25 wmem HWRAE | A2 0FELE 9HF 258 R
50cm 0.08 0.08
% BRI
1m 0.08 0.08
50cm 0.12 0.13
26 =T skt |SEETHRH 10838
1m 0.12 0.12
50cm 0.09 0.10
27 =T #Mkkih  |E/ARILER 10A9H
1m 0.09 0.10
50cm 0.09 0.07
28 =T Mz |FIEBSLE 10848 E10EAEEHL T I
1m 0.09 0.08
50cm 0.13 0.13
29 =T iz |RIEBLE 10A38 E10ENEFR TR IR
1m 0.13 0.13
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | ZHBRERAEE (1 Sv/h)
_— NETES
AT O INAETL B2 | soom | (h-amOFHE) i
. 5@ %10
ERKR RERR
50cm 0.11 0.10 %10@@%%%:%9&7&%&&@
£
1m 0.11 0.09 |FFEki5
=T EHNE |(EXyrEREESNE 9R25H e it
50cm 0.10 0.09
Yuh—i5
1m 0.10 0.09
50cm 0.11 0.11
=T kit | EIRETHRRHD 10A4H
1m 0.11 0.11
50cm 0.13 0.13
wem kit |R)IERKLE 9A25H
1m 0.13 0.13
50cm 0.10 0.1
=T Mkttt | XHET#ZH 10A4H
1m 0.11 0.10
50cm 0.12 0.12
NELELE Q)
1m 0.12 0.12
50cm 0.10 0.1
NELEL ()
1m 0.10 0.10
50cm 0.10 0.1
NEELE[E)
im 0.10 0.11
50cm 0.1 0.12
NELE Q)
1m 0.11 0.11
50cm 0.12 0.12
=T fMikkih |FERKi 1082AR YNELE 0]
1m 0.12 0.12
50cm 0.11 0.11
NELSEJE))
1m 0.11 0.11
50cm 0.1 0.12
YNEE ()
1m 0.11 0.12
50cm 0.12 0.12
YNEE ()
1m 0.12 0.12
50cm 0.11 0.11
YNEE4[C))
1m 0.11 0.11
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BERRE

EMESHRE=2)2 T

(SMTE9A248~108108EHE)

HAEGEFHFARSFE11EDER

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
e NE S
No. | THETH K4 INFEZ R B2 | soom | (h-amOFHE) =
m S0 %10@
FERFR HEER
50cm 0.16 0.14
% BMILS
1m 0.16 0.15
50cm 0.11 0.13
KERR Y
1m 0.12 0.13
50cm 0.11 0.10 .
35 =T Mk | TEEHLE 9827H IS—=HT LT85
im 0.11 0.11
50cm 0.10 0.10
F—brR—ILi5
1m 0.10 0.10
50cm 0.09 0.10
G5 RTNTH
1m 0.09 0.10
50cm 0.10 0.10
NE]
1m 0.09 0.10
36 =t kx| \iERRit 9H26H e
50cm 0.16 0.16
F—brR—ILi5
1m 0.14 0.16
50cm 0.12 0.1
37 =T izt |)IREHLE 9A25H
1m 0.12 0.11
50cm 0.10 0.10
38 =T Mkt |FKkrDESHLE 9H24H
im 0.09 0.11
50cm 0.09 0.09
39 =T kx| EmRFH 9F27H
# = 1m 0.08 0.09
50cm 0.09 0.1
40 =T Mkt |RRXEBLE 9A25H
1m 0.10 0.11
50cm 0.10 0.09
4 =T ikttt | =K 10A38
® : im 010 0.09
50cm 0.17 0.17
42 =T TR | YR ATET R it 1084AR
1m 0.16 0.16
50cm 0.11 0.10
NEE(RL]
1m 0.11 0.10
50cm 0.10 0.10
43 [=1=T kx| ERKZH 10A3H AEPR
1m 0.10 0.10
50cm 0.11 0.10
NE[aR]
im 0.11 0.11
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | ERRERAEME (1 Sv/h)
_— N-E
HRETH X% NEZT B2 | soom | (h-amOFHE) e
m ! %10[
RERR FERER
50cm 0.12 0.12
BT i | FE Ok 1084H
im 0.11 0.12
50cm 0.08 0.10
wem EfEi | IRk 9A/27H
im 0.09 0.10
50cm 0.20 0.21
wem Mkt | ENRESLE 9A/27H
im 0.19 0.21
50cm 0.08 0.09
wem s | EIRERATRR M 9A/27H
im 0.08 0.08
50cm 0.14 0.15
'EM s |[EBEIEFE1LE 1088H
im 0.14 0.14
50cm 0.09 0.08
BT ks |EER 10818
im 0.09 0.08
50cm 0.14 0.14
BT it | HSCERKLE 1088H
im 0.14 0.15
50cm 0.11 0.11
Z BHLE
im 0.11 0.11
BT | B |[BEIxF2AR 10A88 .
50cm 0.09 0.09
e E
im 0.09 0.10
50cm 0.11 0.12
wem #Hmfzt |[EEHLE 9AH26H
im 0.11 0.12
50cm 0.11 0.12
TF
im 0.11 0.12
50cm 0.10 0.10
NELLE ()
im 0.10 0.10
50cm 0.13 0.13
NELL ()
im 0.13 0.14
BEW | BE&L RIS ATNAE | 10898 e
50cm 0.12 0.13
NEFPR
im 0.12 0.13
50cm 0.11 0.11
AERAIO
im 0.11 0.12
50cm 0.13 0.15
AERAI
im 0.13 0.15
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | ZHBRERAEE (1 Sv/h)
. NETES
HETA O INAETL B2 | soom | (h-amOFHE) =
m 4@ %10m]
RERER RERR
50cm 0.13 0.13
wem Mkt |FEHARE 10A18
1m 0.13 0.13
50cm 0.11 0.11
wem Mz |FE0ELE 10A7H
1m 0.10 0.11
50cm 0.08
=T fMkkih  |ERAEZH 10A3H F10EIFTEFICKYBIERT
1m 0.08
NN N , 50cm 0.09 0.10
e | smge [o7 P HRSNBLE | og,q
m 0.09 0.09
50cm 0.19 0.18
=T BHEM |2SvtvAIE 1083A
1m 0.18 0.17
50cm 0.12 0.12
=T kit |ERZATAILE 10A4H
1m 0.12 0.12
50cm 0.10 0.09
=T BBAR |BREREHLE 10A3H
m 0.09 0.09
50cm 0.09 0.13
=T ABAR |BHAMEBHLE 9R25R
m 0.10 0.14
50cm 0.09 0.10
wem AHAR |#E/LUAE 98268
1m 0.09 0.10
50cm 017 0.16
mAREETIVT
1m 0.16 0.16
50cm 0.16 0.17
HREBEEIVT
1m 0.16 0.17
'ET ABAE |HFRWUAE 1088A ]
50cm 0.14 0.13
hRBEESTIUT
1m 0.13 0.13
50cm 0.21 0.20
RAEZENETIVT
m 0.19 0.20
50cm 0.11 0.11
wem HRELAR | KFRLLE 10A9H
m 0.11 0.11
50cm 0.10 0.1
=T BRBAR |REBEHLE 9A 308
1m 0.10 0.11
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BERBRERFBRE=FIT

RAEGFHLARFF11EDHER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
- NETES
No. | THETH K4 INCETL B2 | soom | (h-amOFHE) =
. 5@ #10E
FERFR RERR
50cm 0.10 0.10
it
im 0.09 0.10
50cm 0.11 0.12
66 =T AHAR |BELAR 1083A felC ol /N
im 0.11 0.11
50cm 0.12 0.12
Z/FE LG
1m 0.11 0.12
50cm 0.09 0.10
67 =T #HEAR |HRAE 10878
1m 0.09 0.09
50cm 0.07 0.07
68 =T #HEAR |RHLE 10878
1m 0.07 0.07
50cm 0.09 0.08
69 =T #HEAR |EXBELR 1082AR
1m 0.09 0.08
50cm 0.10 0.10
70 BEm HEAR | KHFRLE 1089A
im 0.09 0.10
50cm 0.17 0.19
71 BEm #HEAR |BTaicE 1083A
im 0.17 0.18
50cm 0.09 0.09
72 =T #HEAR |EXRAR 1083A
1m 0.09 0.09
50cm 0.10 0.10
73 BEm HEAR |(ERLE 98308
1m 0.10 0.10
50cm 0.10 0.1
74 [=1=T HEAE |MEAE 9H24H
im 0.10 0.10
50cm 0.09 0.10
75 BEm HERAR |FELLE 9H24H
im 0.09 0.10
50cm 0.12 0.14
76 [=1=T HEAR |hELE 9A30H
1m 0.11 0.13
50cm 0.11 0.12
77 =T HERAR |FIALE 9827H
1m 0.11 0.11
50cm 0.09 0.09
78 =T HEAR |EXHF12E 10A2H
1m 0.09 0.09
50cm 0.10 0.09
79 =T HEAR |EXF20E 10A3H
im 0.10 0.09
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
— NE S
AT K4 INEE T2 B2 | soom | (h-amOFHE) =
. 5@ #10E
FERFR REMER
50cm 0.09 0.09
=T HELAR |EXHEILE 1084AR
1m 0.10 0.09
50cm 0.11 0.11
=T #HEXAR (AR 10A4H
im 0.11 0.11
50cm 0.11 0.11
=T HEAR |[&RoBE 1084AR
im 0.11 0.11
50cm 0.09 0.10
=T #HEAR |NEHAR 9A25H
1m 0.09 0.10
50cm 0.10 0.1
=T #HELAR |SHAR 9H26H
1m 0.10 0.11
50cm 0.09 0.09
=T #HEAR |HBAE 9826H
1m 0.08 0.09
50cm 0.09 0.09
BEm HEAR |RX#oE 9826H
1m 0.09 0.09
50cm 0.11 0.13
=T HERAR |MEALE 10878
1m 0.12 0.12
50cm 0.09 0.10
=T #HEAR |HREAER 10878
1m 0.09 0.10
50cm 0.09 0.09 | - =
‘Em | HRAE |SAEAE 10R9H Z1OBAETEM SAHRER
1m 0.08 0.08
50cm 0.15 0.16
=T #HEAR |[HLU~E 10878
1m 0.15 0.16
50cm 0.08 0.09
=T HEAR |RAZZHRAE 1089A
1m 0.08 0.10
50cm 0.09 0.09
=T HEAE |RAZZILE 10A9H
1m 0.09 0.10
50cm 0.11 0.12
=T HRAR |[dRX2E 10878
1m 0.11 0.12
50cm 0.12 0.13
=T HERAR |ElaoBE 1083A
1m 0.12 0.13
50cm 0.08 0.08
=T #HEAR |REFE14E 10A8H
1m 0.08 0.08
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BERBRERFBRE=FIT

RAEGFHLARFF11EDHER
(SMTE9A248~108108EHE)

FF DK ER bt F AL (REHRID)
BERKEXMRAL (RFHI)
BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  ETH K4 INEE T2 BE | soom | (hs-aBOFiE) EE
fm 5@ %10
FERFR REMER
50cm 0.08 0.08
96 BEm HEAR |HEFE20E 10A8H
1m 0.08 0.08
50cm 0.08 0.08
97 BEm HERAR |HEEILE 1088H
1m 0.07 0.07
50cm 0.08 0.08
98 BEm HEAR |HEFE4ILE 10A8H
1m 0.08 0.08
50cm 0.08 0.09
99 =T #HEAR |RRAE 9825H
1m 0.09 0.09
50cm 0.11 0.11
100 BEm #HELAR |REAR 1082AR
1m 0.12 0.11
50cm 0.11 0.11
101 BEm HERAR |EHRLE 1082AR
1m 0.11 0.11
50cm 0.10 0.10
102 BEm #HEAR |EHAR 1082AR
1m 0.11 0.10
50cm 0.10 0.10
103 BEm #HEAR |EEcE 1082AR
1m 0.10 0.09
50cm 0.11 0.11
104 BEm #HEAR |XIEFLE 10878
1m 0.11 0.11
50cm 0.09 0.09
105 BEm HERAR |stALE 1083A
1m 0.09 0.09
50cm 0.10 0.10
106 BEm HEAR |BAXETAE 1084AR
1m 0.10 0.10
50cm 0.08 0.10
107 [=1=T HEAE |REAR 10A9H
1m 0.09 0.09
50cm 0.26 0.24
108 =T #HELAR |[EXRLUFHEOHZRLE 9A25H
1m 0.25 0.24
50cm 0.08 0.09
109 BEm #HEAR |HHoE 1083A
1m 0.09 0.09
50cm 0.12 0.13
110 =T #HEAR |ERIBRKLE 98278
1m 0.12 0.13
50cm 0.13 0.1
11 BEm HELAR |HhhiLE 1084AR
1m 0.12 0.11
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EERRERFHRE-SAVIAEEHHAREE11E)FER
SHTEOH24H~10810AE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
— NE S
AT K4 INEE T2 B2 | soom | (h-amOFHE) =
. 5@ #10E
FERFR REMER
50cm 0.11 0.11
=T #HEAR |REAR 1084AR
1m 0.11 0.11
50cm 0.09 0.10
=T HELAR |—AR2aE 10848
im 0.10 0.10
50cm 0.11 0.11
=T #HEAR |BALE 1084AR
im 0.11 0.11
50cm 0.07 0.08
=T #HEAR |[EmeFE22E 9A30H
1m 0.07 0.07
50cm 0.11 0.11
=T #HELAR |mRAEINE 9A30H
1m 0.11 0.11
50cm 0.10 0.09
=T HEAR |[FAMeFE4LE 9A30H
1m 0.10 0.10
50cm 0.10 0.10
=T #HELAR |HSUvELE 9A30H
1m 0.09 0.10
50cm 0.10 0.10
=T #HELAR |AOWmEHE12E 10A4H
im 0.10 0.10
50cm 0.1
=T #HEAR |AowmeE20HE 10A4H FE10EIETEFICKYBIERT
Tm 0.1
50cm 0.10 0.10
=T HEAR |EARAE 1084AR
1m 0.10 0.09
50cm 0.09 0.09
=T #HELAR |[BEXRFILE 10878
1m 0.09 0.09
50cm 0.09 0.09
=T HEAR BB 10878
1m 0.09 0.09
50cm 0.13 0.13
=T #HELAR |[BESNHLV/I—Y 9H24H
1m 0.12 0.13
50cm 0.19 0.20
=T HRAR |HFEE#Fi 1083A
1m 0.20 0.21
50cm 0.12 0.12
=T HRAR |ZBshbHOAE 10878
1m 0.12 0.11
50cm 0.09 0.09
=T HERAR |RALE 10878
1m 0.10 0.10
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EERRERFHRE-SAVIAEEHHAREE11E)FER
SHTEOH24H~10810AE)

BFhRE
BBR

B hxd SRAER (RUETHRYE)
KEXF A (RFHYD

BESS | ZHRERAEE (1 Sv/h)
— NE S
No. |  ETH K4 INEE T2 BE | soom | (hs-aBOFiE) EE
fm 5@ %10
FERFR REMER
50cm 0.09 0.08
128 B|Em HERAR |2V EXRMISLE 1083A
1m 0.10 0.08
50cm 0.10 0.09
129 E=1=hi HRAR |2V EXRE2ELE 1083A
1m 0.09 0.09
50cm 0.13 0.15
130 E=1=hi HERAR |FBKIEFELZZOMAE 9H24H
1m 0.14 0.15
- 50cm 0.16 0.17
= - BKIEFLEZOEELERN
131 | #wEE® HRAE |27 10A78
. im 0.15 0.16
50cm 0.16 0.17
132 E=1=hi #HERAE (LOSEHAR 10A7H
1m 0.16 0.17
50cm 0.11 0.10
133 [=1=T HEAE |[WNIEFE2AE 10878
1m 0.11 0.10
50cm 0.10 0.09
134 B|Em HERAR |FYALE 1088H
1m 0.10 0.10
50cm 0.07 0.08
135 E=1=hi HELAER |LOSEFE1ILE 10A8H
1m 0.07 0.08
50cm 0.07 0.07
136 E=1=hi HELAER |LOSEFE20E 10A8H
1m 0.07 0.06
50cm 0.06 0.06
137 E=1=hi HELAE |LOSAEEILNE 10A8H
1m 0.07 0.07
50cm 0.07 0.07
138 E=1=hi HELAE |LOSAEFEILNE 10A8H
1m 0.07 0.07
50cm 0.07 0.07
139 E=1=hi HELAE |LOSESESAE 10A8H
1m 0.06 0.07
50cm 0.06 0.07
140 E=1=hi HELAE |LOSEFELE 10A8H
1m 0.06 0.08
50cm 0.08 0.07
141 E=1=hi HELAE |LOSEETLAE 10A8H
1m 0.08 0.08
50cm 0.10 0.10
= - TRR=a—491840
142 =T HELAE 10A7H
. im 0.10 0.1
50cm 0.10 0.09
= - TRXR=a—49 280
143 =T HELAE 9A25H
= im 0.09 0.09
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EERRERFHRE-SAVIAEEHHAREE11E)FER
SHTEOH24H~10810AE)

BFhRE
BBR

B hxd SRAER (RUETHRYE)
KEXF A (RFHYD

BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  ETH K4 INEE T2 BE | soom | (hs-aBOFiE) EE
fm 5@ %10
FERFR REMER
50cm 0.09 0.09
= - RXR=a2—4923840
144 =T HELAE 10A7H
= im 0.09 0.09
50cm 0.07 0.07
145 B|Em #HRXLR |EERIEFE12/E 10A8H
1m 0.07 0.07
50cm 0.07 0.08
146 B|Em #HXLR |kERIEF20E 10A8H
1m 0.07 0.08
50cm 0.07 0.07
147 B|Em HEAR | KFHLAE 1089A
1m 0.07 0.07
50cm 0.11 0.11
148 =T #HEAR |fRiEaE 1083A
1m 0.10 0.11
50cm 0.12 0.12
149 B|Em #HELAR |FEFEK2E 1083A
1m 0.12 0.12
50cm 0.10 0.1
150 [=1=T HELAE |SHEAE 9H27RH
1m 0.10 0.11
50cm 0.09 0.10
151 [=1=T HEAE [EKHAE 9H25H
1m 0.09 0.10
50cm 0.14 0.16
152 =T #HEAR |FREAR 9827H
1m 0.14 0.15
50cm 0.11 0.10
153 [=1=T HEAE |0&KEYLE 9H27H
1m 0.10 0.10
50cm 0.09 0.10
154 B|Em HEAR |EHE14E 10878
1m 0.09 0.10
50cm 0.08 0.10
155 E=1=hi #HEAR |BERAR 9827H
1m 0.08 0.09
50cm 0.10 0.10
156 E=1=hi #HERAE (ITBFALE 98278
1m 0.10 0.11
50cm 0.11 0.10
157 E=1=hi #HEAR |N\TERELE 10878
1m 0.10 0.10
50cm 0.13 0.13
158 E=1=hi HRAR |UbhA54E 9H26H
1m 0.13 0.14
50cm 0.13 0.14
159 E=1=hi HRAR |E=BEILE 10878
1m 0.13 0.14
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BERBRERFBRE=FIT

RAEGFHLARFF11EDHER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  THETH O INAETL B2 | soom | (h-amOFHE) o
. 5@ %10M
FERFR REMER
50cm 0.07 0.07
160 =T #HEAR |FHHLE 10878
1m 0.07 0.07
50cm 0.10 0.09
ek (e
1m 0.09 0.09
161 =t HELAE |HFESETAE 9A24R e
50cm 0.09 0.10
RAILRES
1m 0.10 0.10
50cm 0.15 0.13
162 =T HRAR |TARLARE 1084AR
1m 0.15 0.13
50cm 0.12
163 =T #HEAR |BREAR 9A26H FE10EIETHZICKYRERT]
Tm 0.12
50cm 0.08 0.08
164 =T HERAR |#HELoE 10818
1m 0.08 0.08
50cm 0.08 0.08
165 [=1=T HEAE |RIEaE 9A25H
1m 0.08 0.08
50cm 0.11 0.11
166 [=1=T HEAE |RAEAE 9A25H
1m 0.10 0.11
50cm 0.09 0.09
167 E=1=hi HEAR |EaoE 9H26H
1m 0.08 0.09
50cm 0.09 0.09
168 =T #HEAR |FmEAR 9A26H
1m 0.09 0.09
50cm 0.11 0.10
169 =T #HEAR |HELE 9R26H
1m 0.10 0.10
50cm 0.10 0.09
170 =T HEAR |[BoKkaE 9R26H
1m 0.09 0.10
50cm 0.08 0.08
171 [=1=T #HEAR |FLRBAR 9827H
1m 0.08 0.08
50cm 0.10 0.1
172 =T #HELAR |ERAE 9827H
1m 0.10 0.11
50cm 0.10 0.10
173 E=1=hi #HERAR [BLoBGE=—AR) 10A1H
1m 0.10 0.11
50cm 0.07 0.08
174 E=1=hi #HERAR |ZFeE 10A3H
1m 0.08 0.08
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
. NE S
AT K4 INAETL B2 | soom | (h-amOFHE) =
. 5@ #10E
FERFR REMER
50cm 0.09 0.10
BEm #HRXAR |(\a2E 10A3H
1m 0.09 0.09
50cm 0.10 0.10
=T #HEAR |ABAR 1083A
im 0.09 0.10
50cm 0.08 0.09
wem HEAR |/ ALE 9A25H
im 0.08 0.10
50cm 0.09 0.10
=T HELAE |[ShFERLE 9H26H
im 0.10 0.10
50cm 0.18 0.18
=T 2B EXILEH 9A25H FE10RLARELM:EXLUER
1m 0.18 0.18
50cm 0.12 0.13
=T 2B HMUER 1088H
1m 0.12 0.13
50cm 0.11 0.10
=T & EXKZE 1084AR
1m 0.10 0.11
50cm 0.11 0.12
UNELE]
1m 0.11 0.12
BT Rl FHEZE 98268 e
50cm 0.11 0.12
NEip]
1m 0.11 0.11
50cm 0.09 0.09
=T & A OHE%kE 1084AR
1m 0.09 0.09
50cm 0.07 0.06
FE1ETEIS
1m 0.07 0.07
50cm 0.07 0.07
F2ETEHIS
1m 0.07 0.07
BT 0t |EEQE 1088A ]
50cm 0.07 0.05
FE3ETEIL
1m 0.06 0.06
50cm 0.08 0.08
NE|
1m 0.09 0.08
50cm 0.10 0.10
=T HRAR |E+HZERAR 10818
1m 0.10 0.10
50cm 0.11 0.11
=T HERAR |HEF20E 10A8H
im 0.11 0.11
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EERRERFHRE-SAVIAEEHHAREE11E)FER
SHTEOH24H~10810AE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  THETH K4 INAETL BE | soom | (hs-aBOFiE) EE
. 5@ %10M
FERFR RERR
50cm 0.07 0.07
187 =T #HELAE |LE£E3IELEH 1089A
1m 0.07 0.07
50cm 0.14 0.15
188 | —A&{th #HEAR |EEE 10A8H
1m 0.13 0.15
50cm 0.12 0.13
189 | AT HEAR |HRFEREEER 9A25H
1m 0.12 0.13
50cm 0.12 0.13
190 | ZAM™H #HEAR |EB5UAIE 9R25H
1m 0.12 0.12
50cm 0.18 0.18
191 ZAW™ #HELAR |FEREEE 9HF25R
1m 0.17 0.19
50cm 0.13 0.14
192 | A #HEAR |TLHEAHRERUE | 98258
1m 0.12 0.14
50cm 0.17 0.19
193 | AT HELAE |£BARLE 10A8H
1m 0.17 0.20
50cm 0.11 0.12
194 | —K#h #HEAR |262E 10A8H
1m 0.11 0.13
50cm 0.15 0.17
195 | AT #HEAR |RREAR 9HF25R
1m 0.14 0.16
50cm 0.09 0.09
196 | AT #HELAR |HZOHFLE 9A30H
1m 0.08 0.09
50cm 0.13 0.13
197 | ZAHTH #HELAR |RELER 9A26H
1m 0.12 0.13
50cm 0.15 0.17
198 | —A&#rh HERAR | KHETHRH 9H25H
1m 0.15 0.16
50cm 0.14 0.16
199 | AT HEAE AP/ NEAR 10A78
1m 0.14 0.16
50cm 0.13 0.16
200 | AT #HELAR |(mEthoE 9H26H
1m 0.13 0.16
50cm 0.12 0.12
201 AT HEAE |ER=—a1—42HUHEthAE| 95308
1m 0.11 0.12
50cm 0.15 0.16
202 | AT #HEAR |TEHREMAKRvNA—S | 98258
1m 0.14 0.16
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EERRERFHRE-SAVIAEEHHAREE11E)FER
SHTEOH24H~10810AE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
. NETES
No. |  ETH K4 INAETL BE | soom | (hs-aBOFiE) EE
. 5@ %10M
FERFR RERR
50cm 0.16 0.17
203 | AW #HEAR |PEAMAE 9H26H
1m 0.15 0.17
50cm 0.13 0.14
204 | AW HELAR |ARTRIYNAA—S 9A25H
1m 0.12 0.14
50cm 0.15 0.16
205 | AT #HEAR |FEEN 9A26H
1m 0.15 0.16
50cm 0.17 0.18
206 | AW HERAR |RiEE2 9A26H
1m 0.17 0.18
50cm 0.12 0.13
207 | AT HEAE |HENAE 9A30H
1m 0.12 0.14
50cm 0.26 0.27
208 | AW #HELAR |TERELE 9A27H8
1m 0.23 0.26
50cm 0.11 0.12
fEERSYD
1m 0.11 0.13
50cm 0.13 0.15
NE]
1m 0.13 0.15
209 | ZAME | huM-n-) (hub——0ESH | 9A27R me e
50cm 0.11 0.10
YIR—)Li5
1m 0.10 0.10
50cm 0.13 0.14
BBk
1m 0.12 0.14
50cm 0.12 0.14
210 | AW EBRAR |RECFRAR 10A8H
1m 0.12 0.14
50cm 0.17 0.17
211 ZAW™ EBAR |BRAER 9R26H
1m 0.16 0.17
50cm 0.10 0.1
212 | ZAKWH ERAR BB 9A30A
1m 0.10 0.10
50cm 0.16 0.17
213 | ZATH EBAR |BELAR 9A30H
1m 0.15 0.17
50cm 0.10 0.10
214 | ZAWTH EBAR |REFYrRESDSEFNAE | 10A8H
1m 0.10 0.10
50cm 0.10 0.13
215 | ZATH bl /NI O /N 9A30H IEZICLYAtEDFEYIE
1m 0.10 0.12
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  ETH K4 INEE T2 BE | soom | (hs-aBOFiE) EE
fm 5@ %10
FERFR REMER
50cm 0.21 0.26
BEE-FALENDZEL
1m 0.23 0.25
216 | AT EFBAR |BEFOHLE 9A30H S
50cm 0.19 0.24
IREERR-bAL
1m 0.18 0.23
50cm 0.13 0.14
217 | ZATH bli /N S =P /NS 9A/27H
1m 0.12 0.13
50cm 0.17 0.18
218 | AW RELAR |BrHeR 9R278
1m 0.17 0.18
50cm 0.14 0.16
219 | AW MRy | EIS LR 9A26H
1m 0.14 0.16
50cm 0.16 0.16
220 | AW #HELAR |BERTYNI—Y 10A8H
1m 0.15 0.17
50cm 0.23 0.25
221 ZARWTH HELAR |BEHRKLE 1088H
1m 0.19 0.22
50cm 0.10 0.09
222 | AW #HEAR |RE2E 9R26H
1m 0.09 0.09
50cm 0.08 0.09
223 FET HEAR |HEAR 9R24R8
1m 0.08 0.09
50cm 0.21 0.24
224 FET #HEAR |(REAE 9H24H
1m 0.20 0.23
50cm 0.11 0.11
225 FET #HEAR |ARLE 9H24H
1m 0.10 0.11
50cm 0.10 0.10
226 FET #HEAR |RLAE 9H 248
1m 0.10 0.10
50cm 0.08 0.08 .
227 REM RELE |RERRELE 9H24H AN
1m 0.08 0.08
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | ZHBRERAEE (1 Sv/h)
= NETES
No. |  mET#t K4 INFEZ R BE | soom | (PR-aBOT L) %
. 5@ %10M
FERFR RERR
50cm 0.15 0.16
ZEHMT SOV
1m 0.14 0.16
50cm 0.19 0.21
ZEHMYT S OUREEE
im 0.19 0.21
50cm 0.14 0.15
AELEELEIG
1m 0.14 0.15
50cm 0.12 0.14
228 AXETH EHNE |AEEHLE 10A4A FT=A3—k
1m 0.13 0.14
50cm 0.14 0.16
T—RO—F2
1m 0.13 0.16
50cm 0.10 0.10
T=Xa—r3(F—rR—ILA)
im 0.10 0.11
50cm 0.30 0.37
HAEDR-ILETELS
1m 0.30 0.39
50cm 0.08 0.09
BBk
1m 0.08 0.09
50cm 0.10 0.12 .
229 AXETH EEAR |LoahTU—2i—4 10A1H HEEE
1m 0.10 0.12
50cm 0.30 0.30
KEEEHIG
1m 0.27 0.30
50cm 0.17 0.18
230 N ] #HEAR |FXR2E 10A7H
1m 0.16 0.18
50cm 0.20 0.21
W B L5
im 0.19 0.21
231 | AEW | @RAE |ELSE 10A18 m
50cm 0.12 0.13
BIREAL S
1m 0.12 0.14
50cm 0.14 0.15
232 N ] #HEAR |FA2E 10A7H
1m 0.13 0.15
50cm 0.16 0.16
233 N ] #HEAR |HFL2E 10A1A
1m 0.16 0.17
50cm 0.19 0.19
234 N ] #HERAR |HFELE 10A1A
1m 0.18 0.20
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | ZHBRERAEE (1 Sv/h)
e NETES
No. |  rTH K4 N-EZZ0 B2 | soom | (h-amOFHE) o
m S0 %10@
RERER RERR
50cm 0.11 0.11
235 AEM HELE |ATENEE1LE 10A7H
im 0.10 0.11
50cm 0.12 0.12
236 AEM HELE |ATENEFE20E 10A78
im 0.12 0.12
50cm 0.1 0.12
237 N ] #HEAR |RETEAR 10A7H
im 0.11 0.12
50cm 0.13 0.14
238 N EHAE | AT VARE 10A7H
im 0.13 0.14
50cm 0.48 0.54
ANnHW LS
im 043 0.53
50cm 0.20 0.22
ErEi5
im 0.20 0.23
50cm 0.21 0.26
239 N ] EBRAR |BEARFNLE 10A9H WILDIEE
im 0.21 0.26
50cm 0.46 0.60
ERLis
1im 0.45 0.60
50cm 0.39 0.53 |5 B HRILIGRER
BAEICKYIhEDAAE(FE10
im 0.40 0.53|EIHFE#kR)
50cm 0.09 0.08
240 N ] HWRAR (BB 10A2H
im 0.09 0.09
50cm 0.19 0.18
JLETE 5
im 0.18 0.18
50cm 0.1 0.12
241 N ] HWEAR |SRAsnHLIES 10818 BEDLEG
im 0.12 0.12
50cm 0.31 0.32
MEES
im 0.30 0.33
50cm 0.15 0.15
E{al
im 0.14 0.15
50cm 0.13 0.14
242 AEM ki RE#ZE 10A28 R
im 0.12 0.14
50cm 0.1 0.12
A
im 0.11 0.13
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BERBRERFBE=FIVRAE@EHHAEEE 110D HFR

SHTEOH24H~10810AE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

RESE

ZERIREHRATEM (1 Sv/h)

NE%F

No. | THETH K4 INCETL TE | soom | (p-aBBOFHMm =
fm 5@ %10
FERFR REMER
50cm 0.10 0.1
243 SZATET #HELAR |BRRELE 9R248
1m 0.10 0.11
50cm 0.16 0.18
244 SZATET #HEAR |FMETRELE 9A24H
1m 0.16 0.17
50cm 0.20 0.22
245 SATET HEAR |BEEAHAR 9H24H
1m 0.19 0.21
50cm 0.12 0.13
246 S ATET #HELAR |EEHEHLE 9A24H
1m 0.12 0.13
50cm 0.13 0.13
247 SITET HEAE |F=508HAE 9H24H
1m 0.13 0.13
50cm 0.12 0.13
248 SZATET HELAER (2oL EEREAARE 9H25H
1m 0.11 0.13
50cm 0.14 0.15
249 Z1irET BERh  |dESKH 9A25H
1m 0.13 0.15
50cm 0.16 0.17
250 S ATET EBRAR |EEOHRLE 9A25H
1m 0.15 0.16
50cm 0.08
251 Z1iET ol |BRESAE 9A25H iR s
Tm 0.07
50cm 0.17 0.19
252 JIHRET HEAR |ShbLRTyki—o 10A9H
1m 0.17 0.19
50cm 0.11 0.11
253 JIMRET ot |HEEAR 1089A
im 0.11 0.11
50cm 0.18 0.20
FAESLIES
1m 0.19 0.20
254 JIMRET HRERXE |hRaE 10A9H e
50cm 0.17 0.18
LU>FL5
1m 0.17 0.18
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
(SMTE9A248~108108EHE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | ZHBRERAEE (1 Sv/h)
e NETES
AATH ) AEEE T BE | soom | (PR-aBOT L) s
o o E) %10m
RERER RERR
50cm 0.14 0.13
ECA—tA—
im 0.13 0.13
50cm 0.09 0.08
o B——Y
im 0.08 0.08
50cm 0.09 0.09 BN —S5—
" 008 009 E10EBIEH RE I : FroTIBA
50cm 0.11 0.11 HFSARNYZB
" 010 011 E10EBIEMRE M : FvTI5B
" 011 013 E10EBIE# REF: FvTIHBC
" 010 010 E10EBIEH R AT : F v TIHBD
50cm 0.12 0.11 "1'7_'54’|‘/\'7XE
im 0.12 011 E10EBIEH A : T v TIHBE
50cm 0.16 0.15
OO R NACS
o m 0.14 0.16
XEH | RROZ [FEOBOTILANITY) 0pyp S
== 50cm 0.14 0.13
FuX 18—
im 0.13 0.13
im 0.10 0.10 E10EBIEH A : F v TIHF
50cm 0.09 0.08|7)—4A+
FE10ELRIE M RAF: 7 —RAR—
im 0.09 0.09|R(GHAH)
50cm 0.07 0.07
F155
im 0.07 0.07
50cm 0.08 0.08
EaT7AY—
1im 0.07 0.08
50cm 0.08 0.08
EIT7AYV—
im 0.08 0.08
50cm 0.07 0.08
FE2I7(V—
1im 0.07 0.08
50cm 0.07 0.07
EYN ]
im 0.06 0.07
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EERREMSHEE-4U VT HRE EHLAREF11E)FER
SHTEOH24H~10810AE)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | EMRERFTME (L Sv/h)
HE NS
No. BT X5 N F] a 50cm (PR-4FBRDFHYIE) {EE
m S0 %10@
RERER AEHR
50cm 0.08 0.09
F1IT74YV—
1m 0.08 0.08
. 50cm 0.13 0.12
2% | KEH | RROF [FEoSOFLAMITIomag = A
== 1m 0.13 0.12
50cm 0.10 0.09|a7—>
F10EBIEEL I Fro 5@
1m 0.09 0.10[7—>)

¥ TE10EAERRILF. ERI0F10A48M510A26 BICEELI-MESRBRRMSHRE=2)JRE @ HLAESFE10E) B+ HAEHR.
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